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Question 1 - 6 points ;Z >
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Convert the binary number 111.1001 to decimal exactly:

What is the decimal value of the 8-bit two’s complement binary number 11001111?

I J

Convert the unsigned binary number 01101011 to the following bases:

decimal: /@ //}’
hexadecimal: K %
k,l | "

What is the sum (in binary) of the 8-bit unsigned binary numbers 11000110 and
\Ne oo N o
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What is the sum (in binary) of the 8-bit two’s complement numbers 01011110 and

11001010? o\ \ \\N\C |

010100107
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Question 2 - 4 points
Write the C/java equivalent of the following mips sequence of instructions

Assume that the variable A is in $t0, and B is in St1

: (- \
slt $t2, $t0, St I)X \ _
) =i T o }&Af‘ i\/(q
beq  $t2, SO, LABEL & \Jl . !
addi  $t0, $0,7 /\ A v
j EXIT ¢

LABEL : addi  St0, SO, 8

SO<E,;
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